- You should hand me the answers to Week 5 right at the beginning of Wednesday’s lecture of March 30.
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 5 in bold at the beginning of your answers.
Lecture 9: Continuation of chapter 2
1.a) How is a budget deficit of $100 financed in a first stage?

b) Explain the consequences of that deficit financing on the balance-sheets of the agents involved.
c) What are the consequences on the reserves held by banks and on the quantity of money? Explain.

2.a) How is that budget deficit financed in a 2nd stage if the private sector doesn’t fear a default? Explain.

b) Explain the consequences of that 2nd stage of deficit financing on the balance-sheets of the agents involved.

c)  What are the consequences on the reserves held by banks and on the quantity of money? Explain.
In the following questions, suppose now that the private sector fears a default.
3. a) Will the private sector use the deposits resulting from the budget deficit to buy bonds and stocks issued by corporations? Explain.


b) “Assuming rationality, the savings rate should be lower if the quantity of money rather than the quantity of government bonds increases as a result of a budget deficit.” Do you agree? Explain.

4. Assuming rationality, which are the main determinants of consumption in a certain year? 

5. If people are not rational, which may be another determinant of consumption? Explain.

6. a) May the private sector use the deposits resulting from the budget deficit to buy consumption goods  and services? Explain.

b) Will that necessarily result in an increase in inflation? Explain.





….
7. a) Why may the private sector use the deposits resulting from the budget deficit to ‘invest’ in the secondary real-estate and stock markets? 
b) Explain the three things that the sellers of those assets do with the revenue from their sales.

c) Which of those things may initiate or feed a bubble?

d) In a growing economy with positive inflation, the increase in the quantity of money resulting from budget deficits will not increase indefinitely relative to the size of the economy. Why?

e) What are the consequences of that fact as far as the possibility of bubbles generated by money financed deficits are concerned?
f) What are margin requirements?

g) How can margin requirements be used to prevent the deposits resulting from the budget deficit to initiate a bubble?

Lecture 10: Continuation of chapter 2
8. a) If the price of US tradable goods is 1$ and the price of eurozone tradable goods is 1.2€, and today 1$ is equal to 1€, what will happen? Explain.

b) If the long run is five years from now, what is the expected change in the value of the euro per year? Explain.

Consider again the deficit mentioned in the questions about lecture 9.

9. Can the private sector use the deposits resulting from the budget deficit to buy foreign government bonds? Explain.

10. What will be the effect on competitiveness and on the government’s need to run new deficits in the future? Explain.

11. What is the effect of an immediate x% depreciation of the $ on the expected subsequent evolution? Explain.
Note: This is a ceteris paribus argument. Therefore, whether the value of the domestic currency ($) was initially above, equal or below the value to which it is expected to return in the long run is irrelevant.
12. The size of the needed depreciation associated with the lecture’s argument is likely to be small. Why?

13. In fixed rates, the capital flight would mean that part of the budget deficit would have to be financed with the Central Bank’s holdings of foreign currencies. Why?

14. “In flexible rates, part of the deposits resulting from the budget deficit will be extinguished as a result of the capital flight.” Do you agree? Explain.

15. In flexible rates, the capital flight won’t mean that part of the budget deficit will have to be financed with the Central Bank’s holdings of foreign currencies. How will that deficit end up being financed? Explain.

16. In sum, if a government default is feared how does a budget deficit end up being financed? If you aren’t able to answer this question, then you did not understand the lesson that should be drawn from L9-L10.







….

Keep on assuming the deposits resulting from the budget deficit will be kept as a store of value (rather than used to buy government bonds).
17. If banks aren’t afraid of a government default, what will they do? Explain.

18. If banks are afraid of a government default, will they expand credit to households and businesses? Explain.
19. a) If banks are afraid of a government default, will they use the excess reserves to buy foreign government bonds? Explain.

b) What will happen to the excess reserves of banks taken as a whole? Explain.

20. a) In which of the two cases – fear or no fear of default by banks – will interest payments on the public debt be higher? Explain.
b) And what happens in the case of a government of a country of the Eurozone? Explain.
